
©V OKLupteaf USToBf9tIwTaNrZeA xLfLYCI.A j BAllJlY 1rsi2g8h2tHsN 9r5erspeTrmvBeWdG.6 O 4MXaHdCeT 7woi2tWhO uIkn5fBiWnmi5toeU eAFlugDeJbJrVak G2m.4 Worksheet by Kuta Software LLC

Voluntary Worksheet

Logarithms: Expand, Condense, Properties, Equations
Expand each logarithm.

1)  ln (

    

x

 

6

   

y

 

3) 2)  log 8
(

    

x

 

 ⋅ 

  

y

 

 ⋅ 

   

z

 

3)

3)  log 9

 

(

  

33

7 )4

4)  log 7

 

(

    

x

 

3

  

y

 

)3

5)  log 8
(

    

a

 

6

   

b

 

5) 6)  log 4
(

  

63 ⋅ 

 

113)

7)  log 3

 

(

    

u

 

3

  

v

 

)2 8)  ln
3

    

u

 

 ⋅ 

  

v

 

 ⋅ 

  

w

 

9)  log 6
(

  

3 ⋅ 2 ⋅ 

 

56) 10)  log 4
(

  

2 ⋅ 11 ⋅ 

 

74)

11)  log 6
(

    

c

 

5 3

  

a

 

)
12)  ln

 

(

  

52

2 )5

13)  log 5

 

(

    

x

 

3

  

y

 

)6 14)  log 4
(

  

73 3
2)

15)  log 2
(

    

u

 

 ⋅ 

  

v

 

 ⋅ 

   

w

 

2) 16)  log 9

 

(

  

123 ⋅ 7)6

17)  log 9
(

    

c

 

5 3

  

a

 

)

-1-



©a LKsuotpaU cSgovfNtQwvaBr6eT kLSLxCS.Q r 8Anlnlj frxiXg1hctzsb jrWeWsweCrzv5eEdW.K D aMLaudjeU Nwfictihg AICnpf1iUneiptCeg VAylXg2eFb4raah M2X.T Worksheet by Kuta Software LLC

18)  log 7

 

(

    

x

 

5 ⋅ 

  

y

 

)4 19)  log 7
(

    

z

 

2

  

x

 

)

20)  log 8
(

    

u

 

 ⋅ 

  

v

 

 ⋅ 

   

w

 

5)

Condense each expression to a single logarithm.
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Rewrite each equation in exponential form.

41)  log 17 289 = 2 42)  log 9 81 = 2

43)  log 14 196 = 2 44)  log 6 1 = 0

45)  log 100 = 2
46)  log 32
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48)  log 18 324 = 2
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55)  log 7 343 = 3
56)  log 225 15 = 
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57)  log 11 121 = 2 58)  log 14 1 = 0

59)  log 3 27 = 3
60)  log 324 18 = 

 

1
2
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Rewrite each equation in logarithmic form.
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Solve each equation.
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